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RepaRER : 17:10 xME: =D &ue: 21 C

Har RA: 1921 B: 565 K

1Q 2Q 3Q 4Q & &t
B =R K =Z 7 7 7 | 10 31
R O# K = 14 | 14 7 42
,%II\\ﬁiE
F—L|o+—5—| BEff§ |PLAY PLAYER(S) r—K PAT BHAREAN
mAK| 1 3:04 | RUN |#18 ;@M 28 | K [#33 =1 G ol 7
w1 9:38 | RUN | #4 KR 10 | K |#21 ft&k G 717
BmAK| 1 [11:26 |PASS|#18 s&H — #81 &I 7 | K [#33 =1 G 7|14
mKRK| 2 6:25 |PASS|#18 ;&M — #81 &I 2 K [#33 = G 7|21
mA| 2 | 9:05 | RUN [#18 @H 42 | K |#33 =i G 7|28
mAk| 2 [10:18 |PASS| #8 # — #34 XH 45 | K | #21 s G 14 | 28
BK| 3 3:34 | RUN |#44 A 1 K | #21 f& G 21| 28
mA| 3 | 5:56 | RUN [#18 i@H 26 | K [#33 =1 G 21| 35
wmA| 4 | 0:40 FG |#21 fit &K 26 | - - - 24 | 35
mA| 4 | 0:56 | KOR | #7 Fa&p 85 | K [#33 =1 24 | 42
WA| 4 | 6:22 | RUN|#3 A 1 #21 f& 31| 42
F— LR
HRERKZE HEKE
BYFHEIY EE 4 6
18 E# — K 4 — 4 - 6
PAT 28 EH — B o — 0 ~ 0
TJ4—ILRT—)L B — B 1 - 1 0 - 0
AT+ [E% 0 0
J7—ZREYY  (Gy—KZ—RED | 14 (13— 1 — 0] 17 (12— 4 — 1 )]
i I — BT —INT 6 - 1 - 1 24 - 11 - 0
INA .
HEH/Y—K 45 104

Sy E%—EBvY—K 43 — 264 26 — 239
K E%—EBY—K 49 — 309 50 - 343
Al E% — v—F 2 — 30 3 — 15
7T m% — |k 2 - 1 — 0
3rd DOWN CONV. 50% 5 ~ 10 44% 4 9
4th DOWN CONV. 100% 1T 1 0% o ~ 1
R— LR A B 27 41”7 20 19~
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